BOOK VA
# NI B D HANSAVFLEX

| _§:3
£ign w2ANOF BB BEN UEM. B DRD..  ZROO.
1793 DIN 3949
femE Ix BIEIRT, 1x EER, 1x 2E
FH M
T

r’Bx
BRZE. EA. EXARMNATNIERENRABESHEBRREZNERER.
iTHEms
NBR #1845 L #9 2 5 4
FPM ( EIER) RI%& P EsRi2 M
® &
=1 Z£HR5 IEED B ATENE-0 G1

(mm)
BOOK NW 04 L VA L PN 400 6 M12x1.5
BOOK NW 06 L VA L PN 400 8 M14x15
BOOK NW 08 L VA L PN 400 10 M16x 1.5
BOOK NW 10 L VA L PN 400 12 M18x 1.5
BOOK NW 13 L VA L PN 400 15 M22x1.5
BOOK NW 16 L VA L PN 400 18 M26x1.5
BOOK NW 20 L VA L PN 250 22 M 30 x 2
BOOK NW 25 L VA L PN 250 28 M 36 x 2
BOOK NW 32 L VA L PN 250 35 M 45 x 2
BOOK NW 40 L VA L PN 250 42 M52 x 2
BOOK NW 03 S VA S PN 630 6 M14x1.5
BOOK NW 04 S VA S PN 630 8 M16x 1.5
BOOK NW 06 S VA S PN 630 10 M18x 1.5
BOOK NW 08 S VA S PN 630 12 M20x1.5
BOOK NW 10 S VA S PN 630 14 M22x1.5
BOOK NW 13 S VA S PN 400 16 M24x1.5
BOOK NW 16 S VA S PN 400 20 M 30 x 2
BOOK NW 20 S VA S PN 400 25 M 36 x 2
BOOK NW 25 S VA S PN 400 30 M42x2
BOOK NW 32 S VA S PN 315 38 M52 x 2

SZHRFLLL=FER =B S=E - PN=8EESH PB=KRAIHFEND

FREE
BOOK #2/MOFEHABLED, 1x S1ERF,1x EEK,1x 2E

RERT 7 RAFF BRI ETLHEBRK £ 1RAY ATBE 3T AT R A915 B B #E K 2\ | T AR FH Ao
06.08.2025 HANSA-FLEX AG www.hansa-flex.com 1



